ITERIS ADAPTER PLATE

-18 U-BOLT

LT SADDLE

HEX NUTS

SPLIT LOCK WASHERS

O\O\O

EXTRUDED ALUMINUM POLE
SWIVEL

CAST 356
ALUMINUM

(2) 3/8-16 THREAD ENDS

(2) 3/8 FLAT WASHER

(2) 3/8 SPLIT LOCK WASHER ——
(2) 3/8 HEX NUT

(2) CABLE STOPS

CLAMP SADDLE ASSY.

CAST 356 ALUMINUM
-] (2) 5/16-18 U-BOLT
(2) U-BOLT SADDLE
GALVANIZED (4) 5/16 HEX NUTS
CABLE (4) 5/16 SPLIT LOCK WASHERS

(2) 5/16-18 U-BOLT
(2) 5/16 SPLIT LOCK WASHER
(2) 5/16 HEX NUT

(2) 3/8-16 BOLT
(2) 3/8 FLAT WASHER

POLE LENGTHS AVAILABLE (2) 3/8 SPLIT LOCK WASHER
18", 24", 37", 46", 60", 74", 96", 120"

PART NUMBER
SBC66-VECTOR-74

CABLE LENGTH MAST ARM DIA.

66" 3"-7" CABLE LENGTH —

20" 71" TUBE LENGTH

]20” ]2” - ]5” m:&s \g;g@vA(\NAél(‘DSNTSéD?CT)?LNED IN e i . g

" "o " PROPERTY OF SKYBRACKET. ANY =T
144 16 - 20 AU NESTo e T o eane
] 65 20 - 22 OF SKYBRACKET IS PROHIBITED. TITLE
AFPROVALS | BY VECTOR CAMERA MOUNT
NOTES: DRAWN TRC 3/14/14 (CABLE CLAMP)
1. STAINLESS STEEL HARDWARE. vy ey
2. AVAILABLE WITH BAND STYLE CLAMP. NO, :
STYLEC I n SBC66-VECTOR-74 '

DO NOT SCALE DRAWING SCALE: NTS CAD  FILE: SBC66-VECTOR-74 SHEET  10OF1



	Sheet1
	Drawing View2


